Physics 102-Ree
Quiz # § - Seet., 22
Chapter 27

Instructor; Dr. A. Mekki

Name: K—Q_q Id:
r

Consider an RC circuit in which the emfis 12 V. R = 10 MQ and C = 1.2 pF.

{a) What is the time constant of the cireuil?

RC < l2s
(b) What is the potential difference across the capacitor 12 sec after the capacitor
start charging?
t
= g
V= Vo (1- e )

ﬂlni(;_aﬂmjl 12(l-e )

V.= :6V|

{c) What is the poteniial difference across the resistor at that lime?

V11E: <5 T

{d) What is the sum of the potential differences found in (a) and (b7

oy W = 120 &



